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The formula for finding the volume of a cylinder is: 7 E
V=area of base x height. Since the base of the cylinder is a circle, we can use the formula for area of a n
circle and multiple it times the height of the cylinder, E

. — 2 :

V = (nr)(h) :

4. A cylinder with a radius of 5 cm and a height of 12 cm has a volume of 300z cm? Which change in n
dimensions of the cylinder would cause a greater change in volume: doubling the height or doubling the n
radips? Show your work or explain your answer, .

** It js important to note that just like estimating non perfect square roots, sometimes we can estimate the
volume by using an estimated value (3.14) for . |
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